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For Scheme-I & Scheme-// Candidate"; 
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Cool-off time: 15 Minutes 

Part - III 

CO,IPLTER SCIE-'CE 
Maximum: 60 Scores 

General Justructions to Candidates : 
• There is a 'cool-off time' of 15 minutes in addition to the writing time of 2 hrs. 
• You are not allowed to write your answers nor to discuss anything with others 

during the 'cool-off time'. 
• Use the 'cool-off time' to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the same 

question itself. 
• Calculations, figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also pro\ ided. 
• Gi\e equations where\er necessary. 
• Electronic devices except non-programmable calculators are not alloweJ in the 

Examination Hall. 
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l. When accessing structure member, tl~e identifier to the left of the dot operator is the 
name of ----

(a) structure member 

(b) a structure tag 

(c) a structure variable 

(d) the keyword struct (Score: 1) 

2. (a) Identify the error in the following C++ program and correct it. 

#include<iostream.h> 

#include<conio.h> 

void main() 

clrscr( ); 

int num; 

ofstream outfile; 

for(int i=O; i<=5; i++) 

cin>>num; 

outfile <<num<<"\n"; 

} 

outfile close; 

getch( ); 

} (Scores : 4) 

OR 

(b) Explain any four l/O error handling functions in C++. (Scores: 4) 

3. State the distributive property of Boolean algebra and verify it using truth table. (Scores : 5) 

4. Pick the odd one out : 

(a) Create 

(b) Select 

(c) Update 

(d) Insert (Score: 1) 
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I. Structure member access 6>~~6am.Jou8 dot operator-6><t'A f!25®6SO(J)~6~ 

identifier-6><t'A an.1© ~dh6CTTJ6. 

(a) structure member 

(b) a structure tag 

(c) a structure variable 

(d) the keyword struct 

2. (a) <mo6>'9 6>dhos;i~1m1<00;icm c---,.. program-6>£J ~m-;? ~TB~' ~~~; ~, 

n\D'96®6dh. 

#include<iostream.h> 

#include<conio.h> 

void main() 

clrscr( ); 

int num; 

ofstream outfile; 

for(int i=O; i<=5; i++) 

cin>>num: 

outfile <<num<<"\n"; 

} 

outfile close; 

getch( ); 

} ( crucc&:>a.cru : 4) 

~il'i!llh 1cirn 

(b) C++ 6>eJ <i036><mllh1~6o moe:i VO error handling function-dh~.oo;io1"3d ru1ruro1<00;idh. 

( crucc&:>©cru : 4) 

3. Boolean algebra-<lll16>e.i distributive property, truth table ~n.Ja<lllo(J)1if verify 6>~~6dh. 
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(a) Create 

(c) Update 

(b) Select 

(d) Insert 

3 

( crucc&:>©cru : 5) 

( crucc&:>© : I) 
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5. Parallel communication is faster than serial communication. Justifv. 

6. Name the protocol used to transfer any file from one computer to aMthi;~. 

7. Predict the output of the following program: 

#include<iostream.h> 

8. 
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#include<conio.h> 

void main() 

inti: 

for(i=O; ;i++) 

if(i> 10) 

cout<<"**"; 

break; 

} 

else 

if(i= =5) 

continue; 

else 

cout<<i; 

Match the following : 

(l) Writes a single character at a time 

(2) Returns the position of the get pointer 

(3) Error handling function 

(4) A sequence of bytes 

4 

(a) good( j 

(b) putc() 

(c) stream 

(d) tellg( ) 

(e) eof() 

(Scores: 2) 

(Score: 1) 

(Scores: 2) 

(Scores: 2) 



5. Parallel communication, serial communication-6>m.ooou8 OOJ(f)<macn>o1cn>cmo6ffi. 

6. 63©6 computer-am m1cm6o 12l6>gom6 computer-ae.ic66) file transfer 6>!Ll~oo8 

~n.Jacn>O(f)1d36>6ITT> protocol-6>~ On.Jal. 

7. cmo6>\9 6>d3JOS6~1©1c96J6 cm program-6>~ output ~nJOJ!Ll1.006tfu. 

#include<iostream.h> 

8. 
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#include<conio.h> 

void main() 

inti; 

for(i=O; ;i++) 

if(i> 10) 

{ 

cout<<"**"; 

break; 

else 

if(i==5) 

continue; 

else 

cout<<i; 

Q!LlCll6onJS1 O!Ll<8d36>6tfu : 

(1) Writes a single character at a time 

(2) Returns the position of the get pointer 

(3) Error handling function 

(4) A sequence of bytes 

5 

(a) good() 

(b) putc() 

(c) stream 

(d) tellg( ) 

( e) eot( ) 

( crucc&o© : 1) 

( crucc&o©cru : 2) 

( crucc&o©cru : 2) 

P.T.O. 



9. Select the expression for absorption law. 

(a) a+ a= 0 

(b) I +a= I 

(c) O.a=O 

(d) a+a.b=a 

I 0. Identify the error in the following code fragment and correct it : 

struct one 

int a; 
t. 
f' 

struct two 

{ 

int a; 
1.· 
J• 

one sl; 

two s2; 

cin >> sl.a; 

s2 = sl; 

11. (a) class student 
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Public: 

l.• 
J• 

int rebrno; 

char name [ 15]: 

int age; 

float m I, m2, m3, total; 

void getdata( ); 

void calculate( ); 

void display( ); 

student st[ IO]; 

Consider the above code segment. 

(i) Identify member data and member functions separately. 

(ii} How many copies of member functions of student class are 
memory ? Justify. 

(iii) How many copies of data members are created in memory? Justify. 
OR 

6 

(Score: 1) 

(Scores: 2) 

(Score: 1) 

created in 
(Scores: 2) 

(Scores: 2) 



9. Absorption Jaw-<D>66>5 expression 6><mm6>6Tmm56'66>6iB>. 

(a) a+ a= 0 (b) 1 +a= 1 

(c) O.a=O (d) a+a.b=a 

10. <m::>6>g> 6>iB>OS6mT1»1m1d36>&<m code fragment-6>e.t 6>cmg iB>6>6ramT1»1 cm1m&ml1»1 n(i)gl6Clfl6iB> : 

struct one 

int a: 
'. , , 

struct two 

int a; 
\. 
-'' 
one sl; 

two s2; 

cin >> sl.a; 

s2 = sl; ( crucc&:>©cru : 2) 

11. (a) class student 
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{ 

Public: 

l. ,, 

int regno: 

char name [ 15]: 

int age; 

float m 1, m2, m3, total; 

void getdata( ); 

void calculate( ); 

void display( ); 

student st[ 1 OJ; 

12l6dh~1m8 6>dh:J56ml'1»1m1'66>6<m code ~:J(f)o nJ(l)1(f)om1.oo6dh. 

(i) Member data-<D>&o, member functions-~o LnJ<liClfl.,\dho cmmo an1m1'66>6dh. 

( crucc&:>m : 1) 

(ii) Student class-6>oR n{i)L<l» member functions memory-w1rn8 create 6>11cgi6<m6 '? 
ffi.,\:J<D>1dhafl.oo&dh. ( m)cc&o~m) : 2) 

(iii) Data members-6>oR 
mc\o<D>1dhm1.oo&dh. 

n{i)LClfl copy memo~-~1t'li5 create 6>11:;};rm; ' 
(m)c.a.~m) : 2) 

P.T.O. 



(b) Write a program to define a class book with the following members: 

Data Members: book number, title, price, qty and total prize 

Member functions : 

(i) To assign values to the data members 

(ii) To calculate the total price 

(iii) To display the details. (Scores: 5) 

12. Your friend studied only FORTRAN language so he develops pro~rrams using this 

language. But you know C++, so you develop programs using the basic concepts of 

C++. 

(a) How do you differentiate these two programs based on the approach? 

(b) What are the features used in your program? 

13. A class which is used only for deriving new class is called 
----

(a) Derived class 

(b) Abstract class 

(c) Virtual base class 

(d) Base class 

14. The agt,>regate function used to find the total no. of records is 

(a) sum() 

(b) count() 

(c) total() 

(d) max() 

15. How a parameterized constructor is different from a default constructor'? 

(Scores : 2} 

(Scores : 2) 

(Score : 1) 

(Score: 1) 

(Scores : 3) 

16. One of the students in your class argued that conventional system of record keeping is 

better than using DBMS. Do you agree with this argument '? Justify by giving proper 

reasons. (Scores : 3) 
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(b) Book nq)cm class-ma ®06>\P n.J0Cl})2cm members-6>m ~"86>\lJSJarn»16>c0006raJ~ 

63©6 a~n.JOL(J)Oo n4)\P6®6cfu : 

Data Members : book number, title, price, qty and total prize 

Member functions : 

(i) Data members-ITT' value assign 6>!1..IC!YJcfu. 

(ii) Total price calculate 6>!1..IC!YJcfu. 

(iii) Details display 6>!2.J~6cf},· 

12. m16?313~J6>5 CTUJn.O~cmm FORTRAN language 2lOL®Gill n.J01aj13~~- rmm;@a,J5TE 

amwou8 ~ language-ma acoJOL(J)OillJcfuu8 develop 6>!LIC!Y6cm6. n.Jadh'l:l m16ID3CJ8.00 C­

am0lwe>ruJcmCIDJ6>cfuoi>ra' m16ID3CJ8 C++ 6>oR basic concept ruaj66>cfuoi>ra' aLoJOL(J)Oo 

develop 6>!1..IC!YJcmJ. 

(a) @rn ©6TlSJ acoJOL(J)OillJcfu6>~<D>6o n43CID6 rn1cm1w1ma aru©®lailc006cm6? (crucclh:>mcru : 2) 

(b) m16ID3~J6>5 QLoJOL(J)Ollllma ~nJQCl})O(J)lcOOJcm features n4)6>CTID06)c00Cll>OGID ? 

( crucclh:>mcru : 2) 

13. nJJCIDl<D> class-6>m derive 6>!1..IC!YO® illOLCIDillJnJ<ECD>O(J)lcOOJcm class-6>m ____ rtj)ITD6 

nJ()CD!JCTn6. 

(a) Derived class (b) Abstract class 

(c) Virtual base class ( d) Base class 

14. Record-cfu~J6>5 n©6™o cfu6TlSJoJ1s1c00oo3 ~n.JaCD>o(J)lc002cm function ____ ~m>. 

(a) sum( ) (b) count( ) 

( c) total( ) (d) max() ( cruccfh:>© : 1) 

15. 63a>J parameterized constructor, default constructor-ro8 mlcmJo n4)6ID36><n 

QJ.,\CID.,\OCTU6>\lJ31a>1cOOJCTnJ ? ( crucclh:>©m) : 3) 

16. oJa>ffil©O(J)CIDQlO<D>l record cruidh'l:l1cOOJCTl1 a>1cm1wom> DB!v1S ~n.J<Fllle>(f)lc7:>1;mml6>m-

c000CJ8 cfulSJcmma 6>lllaj6>~3ro) n©m) m16ID3~66>5 class-6>~ ChJ31.a,~1~ 63~Ju8 
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17. Predict the output of the following program : 

#include<iostream.h> 

#include<conio.h> 

void main() 

{ 

clrscr( ); 

void ff(int *,int*); 

int x=25, y=l 7; 

ff(&x,&y); 

cout<<x<<"\t"<<y; 

getch( ); 

} 

void ff(int *p,int *q) 

{ 

*p = *p *5; 

*q = *p + 3; 

} (Scores: 2) 

18. In a copy constructor the arguments are passed by 

(a) value 

(b) reference 

(c) implicitly 

(d) explicitly (Score: 1) 

19. Find most suitable match : 

A B 

(1) Website (a) www .yahoo.com 

(2) Portal (b) file with extension .htm 

(3) Web page (c) Protocol 

(4) Homepage (d) first page of the web 

(5) TCP/IP (e) www .keralapsc.org 

(6) HTML (t) Language (Scores: 3) 
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17. cm:>6>~ 6><&:>56<mID1m1cOOJm> program-6>oR output Ln.Jru.!1..l1c00J<& : 

#include<iostream.h> 

18. 

19. 
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#include<conio.h> 

void main() 

clrscr( ); 

void ff( int *,int *): 

int x=25, y=l 7: 

ff(&x,&y); 

cout<<x<<"\t"<<y; 

getch( ); 

} 

void ff(int *p, int *q) 

{ 

*p = *p *5; 

*q = *p + 3; 

} 

63©6 copy _constructor-~ arguments pass 6'.!Ll~Jm>rn' 

(a) value 

(b) reference 

(c) implicitly 

(d) explicitly 

n{BgruJo C1JraITTJ<1Clll:Jt;i;J_\12l:JClll <J9il:>cw1 <fhliraJru1S1cOO),<& : 

A B 

(1) Website (a) v.ww.yahoo.com 

(2) Portal (b) file with extension .htm 

(3) Web page (c) Protocol 

(4) Homepage (d) first page of the web 

(5) TCP/IP (e) www.keralapsc.org 

(6) HTML (f) Language 

11 

( cruc•:>m : 1) 

(m'5Cdb:>mm'5 : 3) 
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20. Write SQL commands for the following questions based on the table STUDENT : 

STUDENT 

No Name Stipend Stream Avg'.\ lark I Grade 
! 

Class .. 

I Ram 400.00 Medical 75.5 B 12A 

2 Lal 450.00 Commerce 67.75 c 118 

3 Lali 300.00 Non-medical 78.3 B l2C 

4 Mohan 350.00 Humanities 87 A 12A 

5 Reghu 400.00 Commerce 93.2 A l lC 

6 Geetha 500.00 Medical . 90.5 A 12A 

7 Subha 425.00 Commerce 78.3 
I 

B 128 

8 Sob ha 550.00 Medical 87.5 A 
! 

12C 

9 Seena 400.00 Non-medical 77.2 B IL\ 

10 Reshma 300.00 Humanities 90 A. 128 

(i) Select all the Non-medical stream students from STCDE\T 

(ii) List the names of those students who are in class 12 sorted by Stipend. 

(iii) List all students sorted by AvgMark in descending order. 

(iv) To insert a new student in STUDENT table and fill the entire column \Vith some 

value. (Scores : 4)" 

21. In an educational institution, the employees are divided into three categories. The 

category name and properties are listed below : 

7019 

(a) Office Staff 

(b) Lab Technicians 

( c) Lectures 

Employee No, Employee Name, Basic Pay 

Employee No, Employee Name, Basic Pay, Lab 

Experience 

Employee No, Employee Name. Basic Pay. Teaching 

experience and No. of papers published 

The institution started computerization of pay calculation of employees using C++. 

Which concept of OOPs is most suitable for representing the above situation ? Give 

reason. (Scores: 4) 
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20. ano6>~ 6>cfuOSJam»lmlc00.1CTTJ <hJOB_\6lrou8c96) STUDENT table-6>m cms1<ruDom6><;USJam»1 

SQL commands n©~6®6cfu : 

STUDENT 

No Name Stipend Stream AvgMark Grade Class 

l Ram 400.00 Medical 75.5 B 12A 

2 Lal 450.00 Commerce 67.75 I c l lB 

... Lali 300.00 : "\"on-medical ""8.3 B 12C _, 

4 Mohan 350.00 Humanities : 87 A. I 12A 
! 

5 Reghu 400.00 Commerce 93.2 A 1 IC 

6 Geetha 500.00 Medical 90.5 A l2A 

7 Subha 425.00 Commerce 78.3 B 12B 

8 Sob ha 550.00 Medical 87.5 A 12C 

9 Seen a 400.00 Non-medical 77.2 B I IA 

10 Reshma 300.00 Humanities 90 A 12B 

(i) STUDENT-m8 mlCTTJJo n©~P Non-medical stream cfuJ31cfu6>~<Dl6o 6>®©6>6mlm5Jc006cfu. 

(ii) Stipend-6>CT'A cms1<ruDomamn1m8 12-oo class-m8 n.JOlcOOJCTTJ cfuJ31cfu~J6>5 (]nJrO sort 

6> ~ m; m <Hn ru 6) '.ld s ~ (fil) ~a). 

(iii) A vgMark-6>CT'A cms1<ruDomamn1m8 nq)~::> cfuJ31cfu6>~CD>Jo tmruamon06m Lcfullam»1rn3 

sort 6> ~ m5 m1 (] © 6lJ 6><;U s 6 am» 6 cfu. 

(iv) STUDENT table-CTJS 63©;\ nJJ®l<DJ ,a,;i316><DJ ~u86>~5Jam»1 nq)~O column-ru.10 fill 

6>~~2,a,. (crue.a.o©cru : 4) 

21. 63©;\ rulB_\O@_\Offi) cru.oonJmam»lmS, ~1rumc0006>© 12l2CTTJO<DJ1 anmo an1m1~1©1cOOJCTTJJ. 

Category-<DJJ6>5 (]n.J©Jo cman16>CT'A property-<DJJo ~JOJ6>5 6>cfuOSJam»lmlc00JCTTJ6 : 

(a) Office Staff Employee No. Employee Name. Basic Pay 

(b) Lab Technicians : Employee No, Employee Name, Basic Pay, Lab 

Experience 

( c) Lectures Employee No, Employee Name. Basic Pay. Teaching 

experience and No. of papers published 

cru.oooJmo ~irumc00o©J6>S (J()m.J~o C++ ~n.J<FDJJ(f)lij cihffil.\i3rnrue'ic66)©1'86>om m6s5ml 

12lJc6>~1mS Ln.J®1n.JoB1~ ffi)Onf>~©_\am»lm cmm2a::wo~.\2lJCDJ OOPs concept 11J3mJrn5 ·7 

c6>0©611>o Ln.J®ln.JOBlcOOJcfu. 
7019 13 
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22. Consider the following program : 

#include<iostream. h> 

#include<conio.h> 

void main() 

{ 

clrscr( ); 

char nam[]="ARTIFITIAL INTELLIGENCE"; 

for(int i=O; nam[i]!='\O'; i++) 

cout<<nam[i]; 

getch( ); 

} 

Rewrite the above program to get the same output using a character pointer variable. 

(Scores: 3) 

23. Explain different stages of System Development Life Cycle with suitable diagram. 

(Scores: 5) 
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22. cmo6>!P 6>c&OS6arnJ>1©1c006<m program n.JCill(f)611>lc00Jc& : 

#include<iostream.h> 

#include<conio.h> 

void main() 

clrscr( ); 

char nam[]="ARTIFITIAL INTELLIGENCE": 

for(int i=O; nam[i]!='\O'; i++) 

cout<<nam[i]; 

getch( ); 

} 

Character pointer variable ~n.J<l<DJO(f)l~ 12l6c&~le.i6>arnn program-m6 c&136<m amacm 

output c&l3arnnc00 ©1cml<DJ1m8 program-6>m cml©Jam»l nQ)!P6cmJc&. ( m>c.e.amm> : 3) 

23. ~~lcm12io<DJ diagram-6>ctA crun.no<DJa«rn»o6>s System Development Life Cycle-6>o'A 

rulrulw stages-6>mcOOJ01~ rulrumlcOOJc!». ( cruc.e.omcru : 5) 
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